Algebra 1 ECA Remediation
Homework 28.1
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Factor each completely.
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Solve each system by substitution.

7 y——J4x+ 13 l

—A4x -2y=-2

~ e (i) =

—Jx ~Fx —26 = -2

—/lx ~ 26 = -2
+ 26 t26
—-ll')_,x = 2
Ele
X = "2
Y= 462D+
Y = ~F41>
Y =

© 2014 Kuta Sofiware LL.C. All rights reserved. Mede with Infinite Algebra 1.

/3@3\
2) 32 - 10r—8 ~24
&/J ,,\ 2
Brrrag e -f Cty.:.';‘
Y‘(?;,r"‘i'?-) 4(3/2 G
(v +2) (‘”*‘r‘)
=Y (5)
4) 4n - 12n } -\-2c3

o —en 10 S (:—'_?-;\:r “
O

/—--ﬁé (G’)\
6) 6v° — 13v+6 _+3C
n / 246
byt v -Tut b P
2v (3\/ —L)._3C'3v—'2> _‘f/“;“—'—%:]
[ 7w
5 A ¢
Gv-2)(av-2

8) —3x-3y=-9

~3%-3(lby~-) = -9

~3x *Ig}c-if.lz.-:—‘—el
2% e = -9
-z =iz
~2lx = 2\
—z] —2)
X = |
Y = () —y
7=
7= 2%
Q,2)



Answers to Homework 28.1

1) (5m—1)(m +5) 2) 3r+2)r—4) 3) (3m-5)m-2) 4 2n-1)2n-5)
5) 2a+1)2a+3) 6) (3v-2)2v-3) 7 (-2, 5) 8) (1,2)
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